

HLC Accreditation Evidence

- FY 2021 Athletic Community Service Report
- URL:

Office of Origin:

Athletic Director

Contact(s):

Athletic Director

| What | Date | Where | # of Athletes/Coaches | Total hours | Total Hours |
|---------------------------------|-------------|----------------------------|-----------------------|-------------|-------------|
| Baseball Team Community Service | | | | | |
| Lincoln School Watchdog Program | 23 | 3-Sep Lincoln - Great Bend | 5 | 2 | 10 |
| Lincoln School Watchdog Program | 30 | O-Sep Lincoln - Great Bend | 3 | 2 | 6 |
| Lincoln School Watchdog Program | | 7-Oct Lincoln - Great Bend | 5 | 2 | 10 |
| Lincoln School Watchdog Program | 1 | 4-Oct Lincoln - Great Bend | 5 | 2 | 10 |
| Rock N Que | 1: | 8-Oct Great Bend Expo | 35 | 8 | 280 |
| Rock N Que | 19 | 9-Oct Great Bend Expo | 35 | 8 | 280 |
| Lincoln School Watchdog Program | 2 | 1-Oct Lincoln - Great Bend | 5 | 2 | 10 |
| Lincoln School Watchdog Program | 2 | 8-Oct Lincoln - Great Bend | 5 | 2 | 10 |
| Lincoln School Watchdog Program | 4 | -Nov Lincoln - Great Bend | 5 | 2 | 10 |
| Thompson Gymnastics Set Up | 1 | 0-Jan GBHS | 18 | 2 | 36 |
| Thompson Gymnastics Tear Down | 1 | 1-Jan GBHS | 18 | 3 | 36 |
| Lincoln School Watchdog Program | 1 | 3-Jan Lincoln - Great Bend | 5 | 2 | 10 |
| Lincoln School Watchdog Program | 2 | 0-Jan Lincoln - Great Bend | 5 | 2 | 10 |
| Economic Development - Movers | 2 | 2-Jan Great Bend | 3 | 1 | 3 |
| Lincoln School Watchdog Program | 2 | 7-Jan Lincoln - Great Bend | 5 | 2 | 10 |
| Lincoln School Watchdog Program | • | 3-Feb Lincoln - Great Bend | 5 | 2 | 10 |
| Lincoln School Watchdog Program | 10 | O-Feb Lincoln - Great Bend | 5 | 2 | 10 |
| Lincoln School Watchdog Program | 17 | 7-Feb Lincoln - Great Bend | 5 | 2 | 10 |
| Lincoln School Watchdog Program | 24 | 1-Feb Lincoln - Great Bend | 5 | 2 | 10 |
| | Total Hours | | | total | 771 |

| What | Date | Where | # of Athletes/Coaches | Total hours | Total Hours |
|-----------------------------------|----------|------------|-----------------------|-------------|-------------|
| Volleyball Team Community Service | | | | | |
| Labor Day Parade | 09/02/20 | Hoisington | 12 | 2 | 24 |
| Kiwanis Club Pancake feed | 03/05/20 | Great Bend | 5 | 2 | 10 |
| | | | | | |
| | | | | total | 34 |

| What | Date | Where | # of Athletes/Coaches | Total hours | Total Hours |
|---|----------|------------|-----------------------|-------------|-------------|
| Softball Team Community Service | | | | | |
| Labor Day Parade | 09/02/19 | Hoisington | 8 | 2 | 16 |
| Eisenhower Elementary (all school related activities) | 10/16/19 | Great Bend | 20 | 3 | 60 |
| Total Ho | ours | | | total | 76 |

| What | Date | Where | # of Athletes/Coaches | Total hours | Total Hours |
|-------------------------------------|-----------|---------------|-----------------------|-------------|-------------|
| Sports Medicine Community Service | | | | | |
| Labor Day Parade | Sept 2nd | Hoisington | 10 | 2 | 20 |
| GBHS Xcountry Meet | 09/05/19 | Great Bend KS | 5 | 4 | 20 |
| GBHS Football Game | 09/06/19 | Great Bend KS | 4 | 4.5 | 18 |
| GBHS Football Game | 09/20/19 | Great Bend KS | 3 | 4.5 | 13.5 |
| GBHS Football Game | 10/18/19 | Great Bend KS | 4 | 4.5 | 18 |
| Rock-N-Q Festival | 10/18/19 | Great Bend KS | 7 | 7 | 49 |
| Rock-N-Q Festival | 10/19/19 | Great Bend KS | 9 | 7 | 63 |
| Jack Kilby Science Day | 11/25/19 | Great Bend KS | 4 | 1 | 4 |
| Santas workshop | 12/02/19 | Great Bend KS | 7 | 2 | 14 |
| Hill Top Classic | 01/27/20 | Great Bend KS | 4 | 5 | 20 |
| Hill Top Classic | 01/29/20 | Great Bend KS | 4 | 5 | 20 |
| Hill Top Classic | 01/30/20 | Great Bend KS | 4 | 5 | 20 |
| Hill Top Classic | 01/31/20 | Great Bend KS | 4 | 6.5 | 26 |
| | | | | total | 305.5 |
| What | Date | Where | # of Athletes/Coaches | Total hours | Total Hours |
| Tennis Community Service | | | | | |
| Labor Day Parade | Sept 2nd | Hoisington | 12 | 2 | 24 |
| Great Bend Chamber Commerce Banquet | 2/21/2020 | Great Bend | 19 | 9 | 171 |
| Kiwanis club pancake feed | 03/05/20 | Great Bend | 12 | 1 | 12 |
| | | | | total | 207 |
| What | Date | Where | # of Athletes/Coaches | Total hours | Total Hours |
| Cheer/DanceCommunity Service | | | | | |
| Labor Day Parade | Sept 3rd | Hoisington | 25 | 1.75 | 43.75 |
| 50th Anniversary | 09/28/19 | Barton | 6 | 5 | 30 |
| Whitetail Banguet & Auction | 10/05/19 | Great Bend | 6 | 4.5 | 27 |
| Eisenhower Elementary | 10/16/19 | Great Bend | 13 | 2.75 | 35.75 |
| | | | | total | 136.5 |
| What | Date | Where | # of Athletes/Coaches | Total hours | Total Hours |
| Women's Soccer Community Service | | | | | |
| Labor Day Parade | Sept 2nd | Hoisington | 22 | 2 | 44 |
| GBHS Soccer Game | Sep 26th | Great Bend | 8 | 2 | 16 |
| Riley Elelmentary | 10/17/19 | Great Bend | 7 | 1 | 7 |
| Great Bend Middle School | 11/12/19 | Great Bend | 6 | 1 | 6 |
| Kiwanis club pancake feed | 03/05/20 | Great Bend | 12 | 1 | 12 |
| Total Hours | ,, - | | | total | 8 |

| What | Date | Where | # of Athletes/Coaches | Total hours | Total Hours |
|--|----------------|------------|-----------------------|----------------|-------------|
| Men's Soccer Community Service | | | | | |
| Labor Day Parade | 09/02/19 | Hoisington | 25 | 2 | 50 |
| Swim Meet timers for Barton | 01/25/20 | Great Bend | 10 | 3 | 30 |
| Boxes of Love - United Way of Central KS | 02/12/20 | Great Bend | 14 | 3 | 42 |
| GBRC - Youth Soccer Clinic 1 | 2/11/20-3/5/20 | Great Bend | 15 | 24 | 360 |
| | Total Hours | | | total | 482 |
| | | | | Total hours at | |

| What | Date | Where | # of Athletes/Coaches | each event | Total Hours |
|-------------------------------------|-------------------|------------|-----------------------|------------|-------------|
| Swim Team | | | | | |
| Worked "Rocking on the planes" | 10/18/19-10/19/19 | Great Bend | 35 | 3 | 105 |
| Worked "Rocking on the planes" | 10/19/2019 | Great Bend | 35 | 3 | 105 |
| Teaching Swim Lessons in NY | 12/22/2019 | | 1 | 1 | 1 |
| Teaching Swim Lessons in NY | 12/27/2019 | | 1 | 1 | 1 |
| Cleaning up at Zoo | 10/27/2019 | Great Bend | 2 | 2 | 4 |
| KCSL Healthy Families | 10/17/2019 | | 1 | 1 | 1 |
| Real Support Diaper Dist. | 12/20/2019 | | 1 | 1 | 1 |
| Real Support Diaper Dist. | 12/21/2019 | | 1 | 1 | 1 |
| Filing at Junction City HS | 9/1/2019 | | 2 | 1 | 2 |
| Helping around Classroom Abby Allen | 12/18/2019 | | 1 | 1 | 1 |
| Helping around Classroom Abby Allen | 12/19/2019 | | 1 | 1 | 1 |
| St Andrews Presbeterian Church | 12/18/2019 | | 1 | 1 | 1 |
| Illuminations volunteer | 12/26/2019 | | 1 | 1 | 1 |
| Timing at Swim Meet in Houston | 12/15/2019 | | 1 | 2 | 2 |
| Timing at Swim Meet in Houston | 12/16/2019 | | 1 | 2 | 2 |
| Pumpkin Patch Fextival Claflin | 10/13/2019 | | 1 | 2 | 2 |
| Feed homeless downtown | 9/1/2019 | | 1 | 2 | 2 |
| Volunteer Swim Clinic at West High | 12/16/2019 | | 1 | 2 | 2 |
| Volunteer Swim Clinic at West High | 12/19/2019 | | 1 | 1 | 1 |
| Helped With Education Foundations | 11/08/19 | | 1 | 1 | 1 |
| Helped With Education Foundations | 11/09/19 | | 1 | 1 | 1 |
| Oztober Fest | 10/6/2019 | | 1 | 1 | 1 |
| Band Volunteer Service | 10/18/2019 | | 1 | 1 | 1 |
| Help Lloyd Build a barn | 12/25/2019 | | 1 | 1 | 1 |
| Timers at GB High School Swim Meet | 12/10/2019 | Great Bend | 13 | 2 | 26 |
| VBS at St. Xavier Catholic | 09/15/19 | | 1 | 1 | 1 |
| VBS at St. Xavier Catholic | 10/13/19 | | 1 | 1 | 1 |
| VBS at St. Xavier Catholic | 10/16/19 | | 1 | 1 | 1 |
| VBS at St. Xavier Catholic | 11/03/19 | | 1 | 1 | 1 |
| VBS at St. Xavier Catholic | 11/24/19 | | 1 | 1 | 1 |
| VBS at St. Xavier Catholic | 12/01/19 | | 1 | 1 | 1 |
| | | | | total | 273 |

| What | Date | Where | # of Athletes/Coaches | Total hours | Total Hours |
|---------------------------------------|----------|------------|-----------------------|-------------|-------------|
| Bowling | | | | | |
| Labor Day Parade | Sept 3rd | Hoisington | 12 | 2 | 24 |
| Great Bend Middle School Bowling Club | 10/30/19 | Great Bend | 15 | 1.5 | 22.5 |
| | | | | | 46.5 |